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Consider the differential equation Eii =e*Y

Name

a) The slope field for the given differential is shown below. Sketch the solution curve that passes
through the point (4, 4) and sketch the solution curve that passes through the point (0, 1). Both
points are indicated on the graph.
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b) Write the equation of the line tangent to the solution curve at the point (4, 4)
c¢) Find the particular solution y = f(x) to the differential equation with the initial condition (0, 1)

and state its domain.
| ' e
6-0*"9— ) ?i’-K f/ﬂ - &

2:; - e‘:’)—

B%J’ﬂg 6\7)&

Y =

£F = B\C-tﬁ/
. S
ACRART:
o= C






